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Multiplication Table Chart (0-12)
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0 1 2

0 0 0 0 0 0 0 0 0 0 0 0 0

0 1 2 3 4 5 6 7 8 9 | 10 | 11 | 12
0 2 4 6 8 |10 | 12 |14 | 16 | 18 | 20 | 22 | 24
0 3 6 9 112 | 15 | 18 | 21 | 24 | 27 | 30 | 33 | 36
0 4 8 |12 |16 | 20 | 24 | 28 | 32 | 36 | 40 | 44 | 48
0 5 1015120 | 25 | 30|35 40| 45| 50 | 55 | 60
0 6 | 12 | 18 |24 | 30 | 36 |42 | 48 | 54 |1 60 | 66 | 72
0 /7 |14 | 21|28 | 35|42 |49 |56 | 63|70 | 77 | 84
0 8 |16 | 24 |32 |40 | 48 | 56 | 64 | 72 | 80 | 88 | 96
0 9 |18 | 27136 | 45 | 54163 | 72| 81|90 | 99 |108
O |10 | 20 | 30 |40 | 50 60 | 70 | 80 | 90 | 100|110 120
O |11 | 22 | 33 |44 |55 66|77 | 88 | 99 1110|121 |132
O |12 | 24 | 36 |48 | 60 | 72 | 84 | 96 |108|120 132|144
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How to Use the Multiplication Chart

Product Lookup Mo 1 2 3 4
[N O 0 0 0 0 0 0 0 0 0 0 0 0
. . . 1 B0 1 2 3 4 5 6 7 8 9 10 | 11| 12
* Find the multiplicand along the top 2[4 6 |5 10| 12|14 16 18| 20 22 24
and the multiplier along the left side. g
The product is at the intersection of g 0| 5 10[15]20[2s [30f35]40]4s|50]55] 60
6 BN 6 12 | 18 124 |30 | 36|42 | 48 | 54| 60| 66 | 72
the tWO_ - 0| 7 |14|21|28|35|42|49|56|63]|70]| 77| 84
¥ O 8 16 | 24 |1 32|40 | 48| 56 | 64 | 72| 80| 88 | 96
9 N0 9 18 | 27136 |45 | 54163 | 72| 81|90 | 99 |108
. Example.' 6x7 =42 ] 0 | 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100 110] 120
% O 11 | 22| 33|44 | 55|66 |77 | 8| 99|110|121|132
vl O 12 | 24 | 36 | 48 | 60 | 72 | 84 | 96 | 108] 120|132 | 144

Factor Review Mo 1 2 3 4
0 me 0 0 0 0 0 0 0 0 0 0 0 0
. 1 Bo) 1 2 3 4 5 6 7 8 9 10 | 11| 12
 Pick a factor and read down the Mo a6 s 10 12|14 16 18] 20 22 24
column to count by that factor. : ERERERERETET EEsT raETIE:
% O 5 10| 151 20| 25|30 35|40 | 45] 50| 55| 60
[ ) Example' Count by 9’8 (@ O 6 12 | 18 1 24 | 30 | 36|42 | 48 | 54| 60 | 66 | 72
) 7 B 7 14 | 21128 | 35|42 |49 |56 | 63| 70| 77 | 84
¥ O 8 16 | 24 |1 32| 40 | 48| 56 | 64 | 72| 80 | 88 | 96
9 NI 9 18 | 27136 |45 | 54163 | 72| 81|90 | 99 |108
il O 10 | 20| 30140 |50 60| 70| 8| 90 |100|110|120
% O 11 | 22|33 |44 | 55|66 |77 | 8 | 99|110|121|132
ivA O 12 | 24 | 36 |1 48 | 60 | 72 | 84 | 96 | 108]| 120|132 | 144
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Division Table Chart (0-12)

O 0O NGO UV A WN =R O

I T
N = O

0 1 2 6 9

0 0 0 0 0 0 0 0 0 0 0 0 0

0 1 2 3 4 5 6 7 38 9 | 10 | 11 | 12
0 2 4 6 8 |10 1 12 |14 | 16 | 18 | 20 | 22 | 24
0 3 6 9 112 15 | 18 |21 | 24 | 27 |1 30 | 33 | 36
0 4 8 |12 116 | 20 | 24 | 28 | 32 | 36 | 40 | 44 | 48
0 5 1015120 25 30|35 |40 45|50 | 55| 60
0 6 |12 | 18124 | 30 | 36 |42 | 48 | 54 | 60 | 66 | /2
0 /7 |14 21128 35|42 |49 56 63|70 77 84
0 8 |16 | 24 |32 | 40 | 48 |56 | 64 | 72 | 80 | 88 | 96
0 9 |18 | 27 |36 |45 | 54 |63 | 72 | 81 ] 90 | 99 | 108
O (10| 20| 30|40 | 50 60| /0 80 | 90 |100 110 120
O (11|22 33|44 |55 | 66|77 | 88 | 99 |110|121 132
O |12 | 24 36 |48 | 60 | 72 | 84 | 96 | 108120 | 132|144
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How to Use the Division Chart

Quotient Lookup B 1 2 3 4
0 e 0 0 0 0 0 0 0 0 0 0 0
« Find the divisor along the t_op, then B R R T ETRETRRT
look down that column to find the o6 o112 15 18121 24127130 33 36
.. 4 N 4 8 12116 | 20| 24 |1 28 | 32| 36| 40 | 44 | 48
dividend. Then follow that to the left to 0 [ s |10 15|20 25|30 35 40] 45| 5055 60
. . 6 IO 6 12 | 18 124 | 30| 36|42 | 48 | 54| 60 | 66 | 72
flnd the qUOtlent. 70 0] 7 |14] 21| 28] 35 42h 56| 63| 70 | 77 | 84
3 O 8 16 | 24132 |40 | 48| 56 | 64 | 72| 80 | 88 | 96
- Example: 42/6=7 BRI P LA e
11 N6 11 | 22 | 33|44 | 55| 66| 77| 88 | 991110|121|132
vl O 12 | 24 | 36 | 48 | 60 | 72 | 84 | 96 | 108]120| 132|144

Factor Review

1

0

1 5 6 7 8 9 |10 11| 12
2 8 |10 12]]14 16| 18] 20| 22 | 24
3 9 |12 | 1518|121 )24 | 27|30 33| 36
4 8 [ 12|16 |20 | 24|28 | 32| 36| 40| 44| 48
5

6

7

8

9

 Pick a factor and read down the
column to count by that factor.

10 [ 15]20 | 25| 30|35| 40| 45]50| 55| 60
12 | 18 124 | 30 | 36 | 42 | 48 | 54| 60 | 66 | 72
14 | 21128 | 35|42 49|56 |63 ]|70]| 77| 84
16 [ 24132 |40 | 48|56 | 64| 72| 80| 88 | 96
18 | 27 136 |45 [ 54163 | 72| 81] 90| 99 108
10 {20 | 30140 | 50 | 60] 70 | 80| 950|100 110|120
11 | 22 |33 |44 |55 |66]| 77 | 88| 99|110|121|132
12 | 24 | 36 |1 48 | 60 | 72 | 84 | 96 | 108]| 120|132 144

 Example: count by 9's
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